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一、单选题
1. This is ____________film I have ever seen.
A. a wonderful
B. the most wonderful
C. wonderful
D. most wonderful
答案：B

2. Chinese is spoken by the _____number of people in the world.
A. smallest
B. most
C. largest
D. wide
答案：C

3. It is _______ for people to feel excited when they start doing something new.
A. normal
B. ordinary
C. average
D. regular
答案：A

4. This is the ______ photo I have ever taken.
A. worse
B. better 
C. best
D. most worst
答案：C

5. The patients are quite ______ to the nurses for their special care.
A. enjoyable
B. helpful 
C. confident 
D. grateful
答案：D

6. - Can I help with your luggage?

- _____________________.
A. No, thanks. I can manage it.
B. No, why? I can do.
C. No, not necessary. 
D. No, you needn't. 
答案：A

7. - May I speak to Mr. White?

- I'm afraid he isn't in. This is his secretary speaking. Can I help you?
- _____________________.
A. Oh, what's a pity! 
B. Thanks, would you please take a message for me? 
C. I don't think so. 
D. Well, I look forward to hearing from you.
答案：B

8. - I feel sick.

- _____________________.
- I'm not sure, but I have got a bad headache.
A. I'm sorry to hear that.
B. How are you feeling now?
C. Do you have a high temperature?
D. How long have you been away?
答案：C

9. - Do you think I could borrow your dictionary this weekend?

- Sorry, but ____________________
A. you can not have it right away.
B. I'm sure you'll like it.
C. I'm going to need it myself. 
D. the dictionary is just there.
答案：C

10. - Excuse me. How do I get to Porter Street from here?

- _____________________You'd better ask someone else.
A. Well, it's not too far away.
B. Do you ask me?
C. I'm not from around here.
D. Pleased to meet you.
答案：C

11. It's ________ that he was wrong.
A. clearly
B. clarity
C. clear
D. clearing
答案：C

12. Don't ________ your study. We are going to help you.
A. worry
B. be afraid
C. be worried
D. worry about
答案：D

13. It was well known that Thomas Edison ______ the electric lamp.
A. invented
B. discovered
C. found
D. developed
答案：A

14. How often do you _________your brother?
A. hear about
B. hear of
C. hear to
D. hear from
答案：D

15. You'd better ______in bed. It's bad for your eyes.
A. not to read
B. not read
C. don't read
D. read
答案：B

16. - _____________________

-Please call me Mary. That's my first name.
A. How can I name you? 
B. How shall I address you? 
C. What is it called? 
D. Are you Mary?
答案：B

17. -Is that a Japanese car?

- _____________________.
A. It's a sports car. 
B. Yes, that is.
C. Yes, it is.
D. It's a lovely car. 
答案：C

18. - I beg your pardon?

- _____________________.
A. I said, "What do you think of the movie?"    
B. Sorry, I didn't say it clearly.
C. I will repeat.
D. It's my pleasure.
答案：A

19. - May I have three tickets, please?

- _____________________.
A. It may have begun already.
B. Please come tomorrow.
C. I'm sorry we've sold out.
D. You are too early.
答案：C

20. - Hello, I'd like to speak to Mark, please.

- _____________________.
A. Yes, I'm Mark. 
B. This is Mark speaking.
C. It's me here. 
D. This is me.
答案：B

21. Professor, would you slow down a bit, please? I can't _______you.
A. keep up with
B. put up with
C. make up to
D. hold on to
答案：A

22. Stars have better players, so I _______them to win.
A. hope
B. prefer
C. expect
D. want
答案：C

23. It ________that they had no idea at the moment.
A. seemed
B. was seemed
C. is seeing
D. is seamed
答案：A

24. We saw him _______ the white building and go upstairs.
A. enter
B. entering
C. to enter
D. entered
答案：A

25. The plane was about to _______, and yet I left my ticket behind.
A. take off
B. take on
C. take up
D. take in
答案：A

26. - Have a good day!

- _____________________.
A. You, too.
B. I hope so.
C. Me, too.
D. It's a wonderful day, isn't it?
答案：A

27. -You've been busy, haven't you?

- _____________________.
A. I was busy last week.
B. Yes, I've been working hard on my paper.
C. I will get busy with my English studies.
D. I'd like to get busy like our teachers.
答案：B

28. -You speak very good English.

- _____________________.
A. It's very kind of you to say so
B. No, I can't
C. You are right
D. That's all right
答案：A

29. ― Could I see your ticket please?

- _____________________.
A. I am not sure yet.
B. I'd love one.
C. I might be. Why?
D. Here you are.
答案：D

30. ― Would you mind if we asked you for some advice?

- _____________________.
A. Thank you so much.
B. What do you want?
C. That's all right.
D. Yes. Please go ahead.
答案：C

31. Singing these songs, I could not help ______ the good old days.
A. thinking over
B. thinking out
C. thinking of 
D. thinking up
答案：C

32. _______ him go out if he wants to.
A. Allow
B. Leave
C. Let
D. Permit
答案：C

33. Several screws(螺丝) need ______.
A. widening
B. enlarging
C. tightening
D. shortening
答案：C

34. Do you think you have talked too much? What you need now is more action and ____ talk.
A. less
B. little
C. fewer
D. few
答案：A

35. The new assembly line having been adopted, the factory produced ____ cars in 1999 as the year before.
A. as twice many
B. twice many as
C. twice as many
D. as many as twice
答案：C

36. - Can I help you, sir?

- _____________________.
A. No, I don't need your help.
B. Yes. I'd like to withdraw some money.
C. Well, leave me alone. 
D. Don't bother me!
答案：B

37. - Nice to see you again, Mr. Smith. How are you?

- _____________________.
A. I miss you.
B. Fine. Thank you. And you?
C. Are you OK?
D. This way, please.
答案：B

38. - It is cold today. What would you like to do this afternoon?

- _____________________.
A. I don't think so.
B. Yes, it's cold. But spring is coming.
C. I need my coat, please. 
D. Yes, it's too cold, so I don't feel like going out today.
答案：D

39. - Welcome to the party!_____________________

- Thank you!
A. Excuse me!
B. I totally agree with you.
C. How pretty you are today!
D. Which one do you prefer?
答案：C

40. - _____________________.

- You too!
A. Merry Christmas!
B. What a beautiful day!
C. Help yourself!
D. It's very kind of you!
答案：A

41. I was talking with my mother on the phone when we were ____ suddenly.
A. cut down
B. cut off    
C. cut across
D. cut back
答案：B

42. The music was so loud that she had to raise her voice to make herself ____.
A. hear
B. heard
C. to hear    
D. hearing
答案：B

43. I can't find my book. Perhaps I ______ it behind in the office yesterday.
A. forgot    
B. left
C. put
D. set
答案：B

44. I am going to _______ the meal, I insist.
A. pay
B. pay for
C. pay about
D. pay on
答案：B

45. He ________ me do the work.
A. gives
B. helps
C. minds
D. cares
答案：B

46. - Sorry to give you so much trouble.

- _____________________.
A. I think so.
B. Oh, I'm sorry.
C. It's OK
D. You are busy.
答案：C

47. - Excuse me, when will the 17:15 train arrive?

- _____________________.
A. I don't tell you. 
B. It's been delayed one hour.
C. You have to be patient. 
D. Don't ask me.
答案：B

48. - Can I ask you a few questions?

- _____________________.
A. What do you do?
B. It's a good idea.
C. No, thanks.    
D. Certainly.
答案：D

49. - What do you think of the movie we saw last night?

- _____________________.
A. The actress is bad.
B. Terrific!
C. The theatre is bad. 
D. Nobody was there.
答案：B

50. - Great party, isn't it?

- _____________________.
A. Yeah, really.
B. My friends are great.
C. Have we met before?    
D. Glad to meet you again.
答案：A

51.There was so much noise in the classroom that the teacher couldn't make himself _____ .
A. heard
B. hearing
C. to hear
D. hear
答案：A

52. Hardly _____ on stage _____ the audience started cheering.
A. he had come/than
B. he had come/when
C. had he come/when
D. had he come/than
答案：C

53. _____ his examination of the patient, the doctor wrote out a prescription.
A. Having finished
B. Finishing
C. Finished
D. Having been finished
答案：A

54. You object _____ , don't you?
A. that they come
B. that they came
C. to their come
D. to their coming
答案：D

55. I wish everybody _____ the meeting tomorrow.
A. will attend
B. would attend
C. had attended
D. is going to attend
答案：B

56.- We are going to have a singing party tonight. Would you like to join us?

-.
A. I'm afraid not, because I have to go to an important meeting
B. Of course not. I have no idea
C. No, I can't
D. That's all set
答案：A

57.- Must I take a taxi?

- No, you. You can take a car.
A. had better to
B. don't
C. must not
D. don't have to
答案：D

58.- Congratulations! You won the first prize in today's speech contest.

-.
A. Yes, I beat the others
B. No, no, I didn't do it well
C. Thank you
D. It's a pleasure
答案：C

59.- Can you go to the concert with us this evening?

-.
A. No, I already have plans
B. I'd love to, but I'm busy tonight
C. No, I really don't like being with you
D. I'm ill, so I shouldn't go out
答案：B

60.- Please help yourself to the seafood.

-.
A. No, I can't
B. Sorry, I can't help
C. Well, seafood don't suit for
D. Thanks, but I don't like the seafood
答案：D

61. A sudden noise of a fire-engine made him _____ to the door.
A. hurrying
B. hurried
C. hurry
D. to hurry
答案：C

62. People at the party worried about him, because no one was aware _____ he had gone.
A. of where
B. of the place where
C. where
D. the place
答案：A

63. This kind of material expands _____ the temperature increasing.
A. to
B. for
C. with
D. at
答案：C

64. While I was in the university, I learned taking a photo, _____ is very useful now for me.
A. it
B. which
C. that
D. what
答案：B

65. A police officer claimed he had attempted to _____ paying his fare.
A. avoid
B. reject
C. refuse
D. neglect
答案：A

66.- Oh, sorry to bother you.

-.
A. That's Okay
B. No, you can't
C. That's good
D. Oh, I don't know
答案：A

67.- Excuse me, but can you tell me the way to the post office?

-.
A. Don't ask that
B. Sorry, I'm a stranger here
C. No, I can't say that
D. No, you're driving too fast
答案：B

68.- What can I do for you?

-.
A. I want a kilo of pears
B. You can do in your own way
C. Thanks
D. Excuse me. I'm busy
答案：A

69.- I was worried about my maths, but Mr. Brown gave me an A.

-
A. Don't worry about it.
B. Congratulations! That's a difficult course.
C. Mr. Brown is very good.
D. Good luck to you!
答案：B

70.- Hello, may I talk to the director now?

-.
A. Sorry, he is busy at the moment
B. No, you can't
C. Sorry, you can't
D. I don't know
答案：A

71. I have been looking forward to _____ from my parents.
A. hear
B. being heard
C. be heard
D. hearing
答案：D

72. Therefore, other things _____ equal, the number of workers that employers want decreases.
A. is
B. are
C. being
D. having
答案：C

73. Would you let _____ to the park with my classmate, Mum?
A. me go
B. me going
C. I go
D. I going
答案：A

74. _____ these honours he received a sum of money.
A. Except
B. But
C. Besides
D. Outside
答案：C

75. It's time we _____ the lecture because everybody has arrived.
A. will start
B. shall start
C. start
D. started
答案：D

76.- May I see your tickets, please?

-.
A. No, they are mine
B. No, you can't
C. Sure
D. Yes, you can
答案：C

77.- Thank you for inviting me.

-
A. I really had a happy time.
B. Oh, it's too late.
C. Thank you for coming.
D. Oh, so slowly?
答案：C

78.- Could I borrow your car for a few days?

-.
A. Yes, you may borrow
B. Yes, go on
C. Sure, here your are. Enjoy your journey
D. It doesn't matter
答案：C

79.- Could I speak to Don Watkins, please?

-
A. I'm listening.
B. Oh, how are you?
C. Speaking, please.
D. I'm Don.
答案：C

80.- Could you help me with my physics, please?

-.
A. No, no way
B. No, I couldn't
C. No, I can't
D. Sorry I can't. I have to go to a meeting right now
答案：D

81. His salary as a driver is much higher than _____ .
A. a porter
B. is a porter
C. that of a porter
D. as a porter
答案：C

82. I will count three hundred and not one of you _____ move a muscle.
A. is to
B. are to
C. is
D. are
答案：A

83. The sports meeting was put off till the next week _____ rain.
A. in spite of
B. so
C. because
D. because of
答案：D

84. I was satisfied with her explanation, _____ .
A. so my classmates were
B. so were my classmates
C. so my classmates did
D. so did my classmates
答案：B

85. Jane's dress is similar in design _____ her sister's.
A. like
B. with
C.to
D.as
答案：C

86.- Madam, do all the buses go downtown?

-.
A. Wow, you got the idea
B. No, never mind
C. Pretty well, I guess
D. Sorry, I'm new here
答案：D

87.- How about going to dinner at the Mexican restaurant tonight?

-
A. Forget it.
B. Sorry, I like Mexican food.
C. That's great!
D. Glad you like it.
答案：C

88.-You know, I have three kids now.

-
A. Oh, I've heard a lot about you.
B. That's wonderful!
C. You've really changed your hair style.
D. Well, I gave up drinking.
答案：B

89.- How often do you go dancing?

-.
A. I will go dancing tomorrow
B. Yesterday
C. Every other day
D. I've been dancing for a year
答案：C

90.-?

- Well, they got there last Wednesday. So about a week.
A. When did your parents arrive at Paris
B. How long have your parents been in Paris
C. Did your parents arrive at Paris last Wednesday
D. When will your parents go to Paris
答案：B

91. After the Minister of Education had finished speaking at the press conference, he was made _____ all sorts of awkward questions.
A. answer
B. answering
C. answered
D. to answer
答案：D

92. The dean of the Philosophy Department requested that the visiting scholar _____ a lecture on Sartre.
A. gave
B. give
C. would give
D. had given
答案：B

93. What a bad memory I've got! I even forgot _____ the book with me.
A.to take
B. taking
C. take
D. taken
答案：B

94. I had my meals _____ when I was ill in bed with a bad cold.
A. to bring
B. bring
C. brought
D. bringing
答案：C

95. He didn't pass the final examination. He _____ it.
A. must have prepared for
B. ought to prepare for
C. ought to have prepared for
D. should prepare for
答案：C

96.- Excuse me, how much is the jacket?

- It's 499 Yuan.
A. Oh, no. That's OK!
B. How do you like it?
C. Which do you prefer?
D. Would you like to try it on?
答案：D

97.-?

- He teaches physics in a school.
A. What does your father want to do
B. Who is your father
C. What is your father
D. Where is your father now
答案：C

98.- It's rather cold in here. Do you mind if I close the window?

-.
A. Yes, please
B. No, go ahead
C. Sure, please
D. I don't like it
答案：B

99.- I'm sorry. I lost the key.

-.
A. Well, it's OK
B. No, it's all right
C. You are welcome
D. You are wrong
答案：A

100.- Who's that speaking?

- This is Tom.
A. speaks
B. spoken
C. speaking
D. saying
答案：C

二、完型填空题
Last year Tom left school. He came to Taipei to look for a job. He went from one company to another but (     101     ) wanted him. Now he had little money. He had to go back to his small town. So he came to the station. He felt (     102     ) and tired. It was very late at night and the station was full of people. They were waiting (     103     ) tickets of the last train. He bought the last ticket, and he was very happy.

At that time, a woman with a crying baby walked to him. She asked him to sell her the ticket. He gave her the ticket. He thought they needed it more than he did. After (     104     ) left, he sat on the bench and didn't know where to go. Just then, an old man came and said, "Young man, I (     105     ) what you did to the woman. I have a big company. I need a good young man like you. Would you like to work for me?"

	
	
	
	

	101. A. no one 
	B. nobody 
	C. some 
	D. any 

	102. A. happy 
	B. excited 
	C. sad 
	D. angry 

	103. A. to go 
	B. to buy 
	C. on 
	D. at 

	104. A. wanting 
	B. went 
	C. the train 
	D. he 

	105. A. did 
	B. was 
	C. saw 
	D. have seen 



答案：A;C;B;C;D;

One day there was an argument between the wind and the sun." I'm much (     106     ) than you," said the wind. "No, I don't agree with you!" said the sun. While they were arguing, they saw a man (     107     ) along the road. He is wearing a heavy coat. The sun said to the wind, "Now, let us see who can make the man take (     108     ) his coat. Then we will know who is stronger."

First the wind tried. It began to blow very hard. It blew (     109     ) hard that the man pulled his coat around him. The wind was angry with the man. Then it said to the sun, "Now, it's your turn." The sun started to shine on the man. Soon it got very (     110     )! The man took off his coat. The argument was over. We know the sun was stronger now.

	
	
	
	

	106. A. stronger 
	B. hot 
	C. interesting 
	D. good 

	107. A. stop 
	B. stood 
	C. walking 
	D. run 

	108. A. on 
	B. off 
	C. over 
	D. away 

	109. A. very 
	B. little 
	C. to 
	D. so 

	110. A. cold 
	B. hot 
	C. hard 
	D. mild 



答案：A;C;B;D;B;

Football may be the most (     111     ) of the games. People in many countries around the world like playing it. In the 19th century people in England first played this kind of balls. The players moved the ball with their feet. The first international football game was between England and Scotland in 1872.

Football is played by two teams with eleven men on each team. Each team has one way to win. It must score more goals (     112     ) the other team. Each goal in games is one point. Football is a round ball. Players may kick it and move it by any part of the body except the hands. Only one player on the team can use his hands. This player is the goal keeper.
A football game usually (     113     ) for ninety minutes. The teams play for forty-five minutes, and then take a short rest. After this halftime rest, they play again for the others forty-five minutes.
Now football is one of (     114     ) played in the Olympics. Another important international football match is called the World Cup. The World Cup is held once every four years. The (     115     ) of the World Cup match is the world champion (冠军) football team.

	
	
	
	

	111. A. good 
	B. interested 
	C. popular 
	D. hot 

	112. A. to 
	B. than 
	C. then 
	D. in 

	113. A. have 
	B. care 
	C. could 
	D. lasts 

	114. A. the team sports 
	B. reason 
	C. team 
	D. word 

	115. A. team 
	B. player 
	C. winner 
	D. sport 



答案：C;B;D;A;C;

It is not polite to arrive at a dinner party more than 15 to 20 minutes late. The host or hostess usually waits for all the guests to arrive before (     116     ) the meal. If someone is late, the food maybe spoiled, and so might the host or the hostess (     117     ). If you have to be late, call and tell them to start without you. It's even worse to be early! The host or the hostess will probably not be (     118     ). If you are early, drive or walk around the block a few minutes, or just sit in your car (     119     ) the right time. Though it's often important to arrive on time yet (     120     ), for open houses, the host or the hostess invites guests to arrive and leave between a certain time so you can arrive at any time with the time he or she gives you.


	
	
	
	

	116. A. making  
	B. cooking  
	C. doing  
	D. serving 

	117. A. spirit  
	B. opinion  
	C. thought  
	D. idea 

	118. A. back  
	B. in  
	C. up  
	D. ready 

	119. A. by 
	B. after 
	C. before 
	D. until 

	120. A. in the other hand 
	B. on the other hand  
	C. in another hand  
	D. on another hand 



答案：D;A;D;D;B;

Mr. Clarke works in a middle school. He likes reading and often (     121     ) some books from the library. He keeps (     122     ) to the radio every morning and reading newspapers after supper. So he knows much and teaches well. His (     123     ) worship(崇拜)him very much.

Mike, Mr. Clarke's little son, is only nine. He also likes reading books. And he often asks his father some questions. Mr. Clarke always thinks he's too (     124     ) to understand him and chooses (     125     ) ones to answer. Of course the boy is not pleased with that.

	
	
	
	

	121. A. finds 
	B. sells 
	C. buys 
	D. borrows 

	122. A. watching 
	B. listening 
	C. going 
	D. touching 

	123. A. teachers 
	B. parents 
	C. students 
	D. classmates 

	124. A. old 
	B. young 
	C. clever 
	D. able 

	125. A. more difficult 
	B. the easiest 
	C. easier 
	D. the most difficult 



答案：D;B;C;B;B;

One day when Jamie came home after school, his mother had worry on her face. He knew she was thinking of (     126     ). "It's bad out there. Black clouds are coming from the sea," Jamie said. "Yes. I'm thinking of those fishing boats at sea," she said. At that moment (     127     ) went out. Jamie and his mother were in the dark. "The coastline will be in the dark," Jamie's mother said. She got more worried. (     128     ) always come in threes. I broke my best glasses this morning, and my sister has the cold. "Now, don't worry, mum. They're right. They're (     129     ) to come through this all right." But Jamie really worried about those fishing boats himself. The fishing boats would (     130     ) the cove (海湾) in the dark. Jamie took flares and rushed into the wind. There was a cliff by the sea. He started to climb. He pulled himself up hand over hand. At last he reached the top.


	
	
	
	

	126. A. the wind 
	B. the clouds 
	C. the rain 
	D. the weather 

	127. A. Jamie 
	B. his mother 
	C. the fire 
	D. the lights 

	128. A. Messages 
	B. Accidents 
	C. Troubles 
	D. Questions 

	129. A. sure 
	B. lucky 
	C. safe 
	D. ready 

	130. A. lose 
	B. miss 
	C. leave 
	D. forget 



答案：D;D;C;A;B;

Some kids have a hard time (     131     ) to the new freedom that they acquire when they leave high school and come to college. Here you are able to choose (     132     ) or not you want to go to class. However, this responsibility comes with a great price. If you do not go to class, you may miss an important lecture and these are very critical when it comes time for that test that is fifty percent of your grade. With this responsibility I have learned how to manage my time more (     133     ) . (     134     ) hating every minute of school, I value it (     135     ) a time for me to prepare for the big test. This new schedule has also changed me in that now I feel like school is worth my time. I do not dread(害怕)going to class.


	
	
	
	

	131. A. content 
	B. adopt 
	C. finding 
	D. adjusting 

	132. A. where 
	B. when 
	C. whether 
	D. if 

	133. A. effective 
	B. efficiently 
	C. effort 
	D. affect 

	134. A. Instead of 
	B. Rather than 
	C. Instead 
	D. Other than 

	135. A. for 
	B. upon 
	C. as 
	D. with 



答案：D;C;B;A;C;

The Internet began more than thirty years ago, and its (     136     ) was to increase communication among universities, the government and some (     137     ) American businesses by linking their computers together. The Internet makes it easy for them to send large (     138     ) of information quickly. As time passed, more people began using the Internet. In 1981, the Internet linked 213 computers. Only nine years later, it (     139     ) more than 350,000 computers. Today experts say there are about 300 million computers connected to the Internet. The Internet has changed the way people work. They can travel from place to place (     140     ) getting in touch with their office all the time via the Internet.


	
	
	
	

	136. A. result 
	B. goal 
	C. finding 
	D. experiment 

	137. A. major 
	B. minor 
	C. mentioned 
	D. stated 

	138. A. amount 
	B. number 
	C. size 
	D. part 

	139. A. increased 
	B. raised     
	C. limited 
	D.  linked 

	140. A. as 
	B. when 
	C. while 
	D. however 



答案：B;A;A;D;C;

American people divide their days (     141     ) several blocks (     142     ) time, and plan different activities (     143     ) different times. American time is "on the dot". If something is supposed to happen (     144     ) Eight o'clock, it will begin at eight. Americans value promptness and may become angry if a person is more than 15 minutes late (     145     ) a good reason. If you know you are going to be late, call in advance and let someone know.


	
	
	
	

	141. A. by 
	B. in 
	C. into 
	D. on 

	142. A. at 
	B. of 
	C. in 
	D. for 

	143. A. for 
	B. up 
	C. into 
	D. to 

	144. A. at 
	B. on 
	C. by 
	D. in 

	145. A. with not 
	B. without 
	C. not at  
	D. not with    



答案：C;B;A;A;B;

In the eighteenth century, cities (     146     ) larger and larger. People moved from the countryside and small towns to the (     147     ) because there was (     148     ) work for them to do in the cities.On Sundays and holidays, they liked to (     149     ) the cities and have a good time in the countryside. But not every (     150     ) had a horse or a wagon(四轮马车). People needed a simpler means of transportation. The first bicycle, which was very simple, appeared in 1790.


	
	
	
	

	146. A. become 
	B. became 
	C. change 
	D. changed 

	147. A. cities 
	B. countryside 
	C. towns 
	D. villages  

	148. A. many 
	B. much 
	C. more 
	D. lots  

	149. A. come to  
	B. reach 
	C. go away 
	D. leave 

	150. A. family 
	B. house 
	C. home  
	D. people 



答案：B;A;C;D;A;

三、阅读理解
Growing older. These words used to strike fear in the hearts of old men and women, who imagined days spent in nursing homes and lack of control over their lives. Truthfully, there are few people who do feel comfortable with the thought of growing older. For most people, who experienced the height of their economic and political power during their fifties, entering the "golden years" can be a disappointment.
But it may not be that way forever. Actually, society as a whole is now beginning to discover the bright side of old age. Even if a person is over 65, it doesn't mean he or she will suddenly become useless. Social workers stress the fact that the old people are the sum of their life experiences and do not suddenly change just because they have reached the age of 60 or 65.
Social workers have divided the elderly into two basic groups: young old---people aged 60 to 75; and old old---75 to 100. These groups have also been broken down into other categories. Of the two main groups, the young old are better off. They are more likely covered by a pension, and generally have good health. People aged 75 and older may not have the financial benefits this group is enjoying and are also more likely to develop diseases. They are sometimes called the weak elderly.
151. According to the passage, old people used to ______.
A. be satisfied with their “golden years”
B. be in fear of a heart attack
C. like living in nursing homes
D. feel uneasy about growing old
答案：D
152. The author agrees to the view that ______.
A. old people remain valuable to the society
B. people become useless when they reach the old age
C. social workers are mainly formed by old people
D. old people are in lack of control over their lives
答案：A
153. According to the passage, why are the young old better off?
A. They still have their economic and political power. 
B. They are experienced in making money.
C. They are the sum of their life experiences.
D. They have good health and pension.
答案：D
154. According to the author, old people are ______.
A. more useful than young people
B. enjoying financial benefits
C. rich in experience
D. still very energetic
答案：C
155. What is discussed in this passage?
A. The meaning of growing old. 
B. Better life for the elderly. 
C. Groups of the old people. 
D. The bright side of old age.
答案：D

It was once considered a good idea to keep the car engine running on idle for a minute or two following a cold start. Today, with modern technology, the opposite is true. An engine operating under road conditions will warm up faster and run more efficiently than the one that has been idling, as this just burns up gas (on average about a gallon an hour).
If possible, when you have a full tank of gas, park the car facing downhill, as this will prevent any gas from leaking out of the tank. Parking in areas of little or no sunlight helps prevent evaporation(蒸发) of the gas which would occur if you parked in the hot sun. Your car will stay cooler, too, and this means less gas is consumed for the air conditioner once the engine is started.
Stay away from wide-track tires if you want top mileage for your dollar. Narrow-track tires produce less friction and thus rolling resistance. The same effect is achieved by adding three to five pounds above recommended pressure to each tire while this won't noticeably affect your car's mobility, it will increase the life of your tires and gas mileage.
Check tire pressure often, especially when the weather turns cold. The difference between winter and summer tire pressure can be as much as eight pounds. This could cost you two miles per gallon.
156. The main purpose of the passage is to tell us ______.
A. how expert drivers try to save gas
B. how to drive a car properly
C. how to make a car run smoothly
D. how to make your car consume less gas
答案：D
157. According to the passage, keeping the engine run idly ______.
A. will just waste gas
B. will warm it up more quickly
C. will make it work more efficiently
D. is necessary in cold weather
答案：A
158. Parking your car in a cool place ______.
A. will take it longer to warm up the engine
B. means less gas consumption for the air conditioner
C. prevent any gas from coming out of the tank
D. helps start your car more easily
答案：B
159. Wide-track tires ______.
A. won't noticeably affect your car's sliding quality
B. can increase tire life
C. will increase rolling resistance
D. helps attain top gas mileage
答案：C
160. Tire pressure changes ______.
A. when wide-track tires are used
B. when narrow-track tires are used
C. in different weather conditions
D. in different road conditions
答案：C

Since World War II, there has been a clearly discernible trend, especially among the growing group of college students, toward early marriage. Many youths begin dating in the first stages of adolescence, “go steady”through high school, and marry before their formal education has been completed. However, emotional maturity is no respecter of birthdays; it does not arrive automatically at twenty-one or twenty-five. Some achieve it surprisingly early, while others never do, even in three-score years and ten (七十岁).
Many students are marrying as an escape, not only from an unsatisfying home life, but also from their own personal problems of isolation and loneliness. And it can almost be put down as a dictum that any marriage seldom solves one’s problems, more often, it merely makes them worse. Furthermore, it is doubtful whether the home is an institution that is capable of carrying all that the young are seeking to put into it. Young people correctly understand that their parents are wrong in believing that “success” is the ultimate goal, but they erroneously believe that they themselves have found the true center of life’s meaning. Their expectations of marriage are essentially utopian and therefore incapable of fulfillment. They want too much, and disappointments are often bound to follow.
Shall we, then, join the chorus of “Miseries” over early marriage? One cannot generalize: all early marriages are not bad any more than all later ones are good. Satisfactory marriages are determined not by time, but by the emotional maturity of the partners. Therefore, each case must be judged on its own merits. If the early marriage is not an escape, if it is entered into with relatively few illusions or false expectations, and if it is economically feasible, why not? Good marriages can be made from sixteen to sixty, and so are bad ones.
161. According to this article the trend toward early marriages __________.
A. was the result of the Great Depression of the 1930’s
B. could not be easily determined
C. is one that could be clearly seen
D. is a result of the emotional maturity of the young
答案：C
162. The author suggests that many of today’s early marriages are a result of __________.
A. escapism
B. theological dictum
C. lack of formal education
D. convenience
答案：A
163. More often than not, early marriage will __________.
A. not affect one’s problems
B. solve a person’s problems
C. intensify one’s problems
D. ease one’s problems
答案：C
164. The author states that the home as an institution is __________.
A. overrated
B. unworthy of worship
C. a god who can grant everything that you wish for
D. probably not capable of being what many young people expect it to be
答案：D
165. Many young people who marry early believe that __________.
A. their parents have found the true meaning of life
B. they have found the true center of life’s meaning
C. “success” is the ultimate goal
D. to succeed is not at all important
答案：B

It’s a modern problem: you're too busy to be disturbed by many phone calls so you turn your cell phone off. But if you don't remember to turn it back on when you're less busy, you could miss some important calls. If only the phone knew when it was wise to interrupt you, you wouldn't have to turn it off at all. Instead, it could let calls through when you are not too busy.
A bunch of behavior sensors and a clever piece of software could do just that, by analyzing your behavior to determine if it's a good time to interrupt you. If built into a phone, the system may decide you're too busy and ask the caller to leave a message or ring back later.
James Fogarty and Scott Hudson at Carnegie Mellon University in Pennsylvania based their system on tiny microphones, cameras and touch sensors that reveal body language and activity. First they had to study different behaviors to find out which ones strongly predict whether your mind is interrupted. 
The potential "busyness" signals they focused on included whether the office doors were left open or closed, the time of day, if other people were with the person in question, how close they were to each other, and whether or not the computer was in use.
The sensors monitored these and many other factors while four subjects were at work. At random intervals,the subjects rated how interruptible they were on a scale ranging from "highly interruptible" to "highly not interruptible". Their ratings were then correlated with the various behaviors. "It is a shotgun approach:We used all the indicators we could think of and then let statistics find out which were important," says Hudson.
The model showed that using the keyboard, and talking on a landline or to someone else in the office correlated most strongly with how interruptible the subjects judged themselves to be.
Interestingly, the computer was actually better than people at predicting when someone was too busy to be interrupted. The computer got it right 82 per cent of the time, humans 77 per cent. Fogarty speculates that this might be because people doing the interrupting are inevitably biased towards delivering their message, whereas computers don't care.
The first application for Hudson and Fogarty's system is likely to be in an instant messaging system, followed by office phones and cell phones. "There is no technological roadblock to it used in a couple of years," says Hudson.
166. A big problem facing people today is that ______.
A. they must tolerate phone disturbances or miss important calls
B. they must turn off their phones to keep their homes quiet
C. they have to switch from a desktop phone to a cell phone
D. they are too busy to make phone calls or write e-mails
答案：A
167. The behavior sensor and software system built in a phone ______.
A. could help store important messages
B. could send messages immediately
C. could tell when it's right to interrupt you
D. could refuse important phone calls
答案：C
168. Scientists at Carnegie Mellon University tried to find out ______.
A. why office doors were often 1eft open
B. when it was a good time to turn off the computer
C. what questions office workers were bothered with
D. which behaviors could tell whether a person was busy
答案：D
169. During the experiment, the subjects were asked ______.
A. to control the sensors and the camera
B. to rate the degrees to which they could be interrupted
C. to compare their behaviors with one another's
D. to analyze all the indicators of interruption
答案：B
170. The computer performed better than people in the study because ______.
A. the computer worked harder
B. the computer was not busy
C. people tended to be biased
D. people were not good at statistics
答案：C

In 1985, the Coca-Cola Company made the decision to change the formula of its leading soft drink. The change was based on the findings of many market studies. These studies had shown that the general response to the new product was good. However, the change of the traditional Coca-Cola by New Coke was rejected by the majority of drinkers. In fact, the company had to step back and restart production of the old formula of Coca-Cola.
The most important reason why New Coke was rejected was the emotional relationship that existed between drinkers and the old soft drink formula. Drinking Coca-Cola had become a tradition for many people over its 99 years of existence. The change made by the company was not only in Coke’s formula but also in the traditional values and memories that it represented to the drinkers. “We had taken away more than the product Coca-Cola. We had taken away a little part of them and their past.” The drinkers rejected this “improvement”, because “they believed that Coke stood for traditional value...so they felt betrayed when the product changed completely overnight”.
Although a lot of research was done by Coca-Cola Company, it didn’t show the depth of drinkers’ emotion for the product. The studies took many forms, but none of the tests was able to measure the degree of personal and emotional reactions caused by the disappearance of the old, traditional Coca-Cola. The weakness of the research was that it was mainly quantitative in form. The result was only numbers that could not show the deep meaning the product had for many people. A more extensive study focusing on the qualitative aspects of the change would perhaps have been able to demonstrate the close relationship existing between drinkers and product.
171. Coca-Cola company changed the formula in 1985 because __________.
A. it led the soft drink industry in the market
B. its market studies supported the change in the formula
C. it carried out market research for expansion
D. it simply felt the need to make the change
答案：B
172. According to the passage, the drinkers rejected New Coke because of __________.
A. the late response to the market by Coca-Cola Company
B. the reproduction of Coca-Cola’s old drink formula
C. a strong dislike by Coca-Cola’s regular drinkers
D. the emotional relationship between the drinkers and the old soft drink
答案：D
173. The product Coca-Cola was believed to stand for __________.
A. traditional values and good memories
B. traditional customs and happy days
C. past honors and efficient management
D. top quality and wonderful taste
答案：A
174. Which of the following statements is true?
A. Research by Coca-Cola considered emotional factors. 
B. Coca-Cola did little research before they made the change. 
C. Research by Coca-Cola was quantitative rather than qualitative. 
D. Research by Coca-Cola was both quantitative and qualitative. 
答案：C
175. The author of the article clearly indicates that __________. 
A. the weakness of the research could have been removed
B. Coca-Cola should have measured the quantitative factors more carefully
C. Coca-Cola should have done a more extensive qualitative study
D. A slower change of the product might have improved the sales of the company
答案：C

During the meal, you'd better be careful not to leave a spoon in a soup bowl or coffee cup or any other dish. The coffee spoon ought to be on the saucer, the soup spoon ought to be on the plate under the bowl. When you are having soup, make the least noises and use the side of your spoon inside out this way, not the tip. And you mustn't pick up your soup bowls so as to drink away the last drops of your soup from the bottom of the bowl.
Very often there is only one main course and salad, followed by your sweet. If you find the meal not enough, say "Oh, it's delicious!" and ask for some more of the chicken or steak or whatever you have just had. The hostess will be very glad that you appreciate her cooking and will give you an extra portion. But if you observe the Chinese way of being polite and say "No, thank you" when the hostess offers you more, you will most probably starve later, because Americans will never press food on you. Yet it is not polite to keep silent and not to talk with the person next to you. It would be considered good manners if you handle your silverware with care so that they don't make any noise. When coffee comes, drink it from your cup. The coffee spoon should rest on the saucer while you are drinking. And smoking, of course, is rarely seen at a dinner table. Well, when the meal is finished, the guests put their napkins on the table and stand up, the men again helping the ladies with their chairs.
After the dinner, the guests usually stay for an hour or two, then they would say, "Well, I'm afraid I must be going now." The host and hostess would of course urge everyone to stay longer. "What, already? Won't you have another coffee?" The guests, for instance, would say, "I'd love to, but I have to be up early tomorrow morning. Thank you for a most enjoyable evening. Good-night."
And if you stay overnight or over the weekend, it will be courteous to send a thank-you note to the host or hostess the following day, very often with a small gift such as a box of chocolate or some flowers as a token of appreciation of their hospitality.
176. Which of the following would be the best title of the passage?
A. How to Prepare for a Meal. 
B. Never Press Food on Your Guest. 
C. Table Manners in the The United States of America.
D. How to Enjoy a Dinner. 
答案：C
177. The passage suggests that ______. 
A. to make the hostess happy you should ask for more food even if you are full
B. you should keep silent at a dinner table in order to be polite
C. if you want to be friendly with the person next to you, you should press food on him
D. talking is necessary at a dinner table
答案：D
178. At a dinner table, you do all of the following except ______.
A. making the least noise possible
B. picking up your soup bowl to drink away the last drop
C. handling your silverware with care
D. drinking the coffee from your cup
答案：B
179. What does "courteous" in the last paragraph mean?
A. Friendly
B. Generous
C. Polite
D. Noble
答案：C
180. The passage implies that ______.
A. different nations have different customs
B. Chinese customs are quite similar to American ones
C. both Chinese and Americans have soup before the main course
D. if you are polite, the hostess will press more food on you
答案：A

A nineteenth-century French dramatist remarked that the only difference between animals and human beings is that people drink when they are not thirsty and make love in any season. The sociologist's definition of the difference is more scientific: only human beings have the ability for creating and transmitting culture. More than any other species, human animals are able to surpass their biological limitations by sharing ideas and passing on what they learn to future generations.
All animals, including human beings, have certain problems in common. In order to survive as species, they must find a home, get food and provide for their young. Animals are guided by instincts that enable them to cope with these problems of existence. Their responses to their environment is a fixed predictable manner: beavers build dams as homes, lions hunt for antelopes for food, and birds build nests to protect their young. Should these solutions turn out to be inadequate, animals for the most part will still go on making the same responses to the same problems. It is true that much of the behavior of higher animals is learned through direct experience. As everyone knows, dogs can be taught to overcome their instinctive dislike of cats, and parrots often learn new calls. In some cases animals have also been known to teach their offspring what they themselves have learned. Nevertheless, human beings are unique in their far greater ability to learn from experiences, to create new solutions to old problems, and most important, to use language to transmit what they have learned to future generations. While animal societies must rely on biologically inherited methods of dealing with their environment, human societies have the far greater advantage of a socially inherited culture.
181. From a sociological point of view, the difference between humans and animals is ________.
A. humans drink when they are not thirsty
B. humans must find a home
C. humans can pass on their culture from generation to generation
D. humans know how to bring up their young
答案：C
182. One of the problems that both humans and animals must face is________.
A. they have to overcome their biological disadvantages
B. they have to raise their young in whatever living conditions
C. they must share ideas when in trouble
D. they must find new solutions to difficult problems
答案：B
183. In face of problems of existence, animals ________.
A. can think and find a plausible solution
B. only respond repeatedly in the fixed way
C. can pass on the information to their young
D. young animals can think of better ways to solve them
答案：B
184. Beavers can build dams as home ________.
A. because they can learn from each other
B. in an instinctive way
C. after many failures
D. after they follow other beavers' ways of building dams
答案：B
185. Which of the following statements is true according to the passage?
A. Only humans can learn from experience. 
B. Humans have much greater ability to solve problems with new methods. 
C. Humans have more biological advantages than animals.
D. Humans and animals have nothing in common.
答案：B

Though some people have suggested that women should return to housework in order to leave more jobs for men, the idea has been rejected by both women and men in public opinion polls. Lately some union officials have suggested that too many women are employed in type of work more suitable for men and that women should step aside to make way for unemployed young men. They argue that women - especially women in their childbearing years actually delay economic development and result in lower productivity, poor quality and inefficiency.
To solve the problem, they have suggested that the working women stay at home while their husbands or brothers were given double wages. They argue that under these circumstances, families would retain their same level of income, and women could run the house and raise children much better.
The suggestion has been rejected by 9 out of 10 people polled. A hundred persons in a big city were questioned last summer. Out of 50 women, 46 said they were unwilling to leave their jobs, no matter what the situation was. The other 4 said they would like to return home if their jobs could be taken by their sons or daughters. Of 50 men polled, only 6 said they would like to see their wives give up their jobs, if it meant higher wages for themselves.
Some other people have suggested another way called "phased employment theory". The theory suggests that a woman worker take leave from her job when she is seven months pregnant and stay off the job until her baby reaches the age of 3. It suggests that women on leave receive75 percent of their normal salary and be allowed to return to work after the 3-year period. This will benefit children, women, their families and the society. Some of those polled, both women and men, felt the idea is a good one. It definitely seems to be more acceptable than the suggestion that women return to home forever.
186. Some union officials have suggested that women should return home because ________.
A. all of them are employed in unsuitable types of work
B. their participation in work has a bad influence on the economic development
C. most skilled male workers are now unemployed
D. nowadays no one can take care of children except women 
答案：B
187. Some union officials have suggested that if women resign their jobs,________.
A. they should be allowed to attend school to be trained
B. their jobs should be taken over by the male members of their families
C. the male employees in their families should receive double wages
D. their children should also leave their kindergartens 
答案：C
188. According to the passage, the suggestion that women should return to housework was________.
A. opposed by most men and women
B. welcomed by men only
C. welcomed by women only
D. welcomed by men and women
答案：A
189. According to the passage we can see “phased employment” means ________.
A. two or more women share the same job
B. women stay at home on weekdays and go to work on weekends or holidays
C. a woman should resign her job forever if she has a child
D. women are allowed to take leave from their jobs during their childbearing years 
答案：D
190. Based on the “phased employment” theory, during a woman's leave from her job ________.
A. her work should be done by her husband or brothers
B. her family's income level will be a little lower than it normally is 
C. her family can still keep the same level of income
D. either her husband or her brothers will be given double wages
答案：B

Throughout the colonial period there was a remarkable shortage of women, which varied with the regions and was always greatest in the frontier areas. This shortage enhanced(提高)women's status and position and allowed them to pursue different careers. The puritans(清教徒) regarded idleness as a sin(罪恶), and believed that life in an underdevelopment country made it necessary that each member of the community performed an economic function. Thus work for women was not only approved but also was regarded as a civic(公民的)duty. Puritan town councils expected widows and independent women to be self-supporting. There was no social prohibition against married women working; on the contrary, wives were expected to help their husbands in their trade and won social approval for doing extra work in or out of the home. 
The vast majority of women worked within their homes, where their labor produced most articles needed for the family. The entire colonial production of cloth and clothing and partly that of shoes was in the hands of women. In addition to these occupations, women were found in many different kinds of employment. They were butchers, silversmiths and gunsmiths. They ran mills, plantations, shipyards, and every kind of shop. They were gatekeepers, jail keepers, journalists, printers, nurses, and teachers.
191. What does the passage mainly discuss?
A. Colonial marriages. 
B. The puritan religion. 
C. Colonial women's employment. 
D. Education in the colonies. 
答案：C
192. According to the passage, where in colonial North America were there the fewest women?
A. Puritan communities. 
B. Seaports. 
C. Frontier settlements. 
D. Capital cities. 
答案：C
193. It can be inferred from the passage that the Puritans were ______. 
A. uneducated
B. hardworking
C. generous
D. wealthy
答案：B
194. According to the passage, Puritans believed that an unmarried adult woman should be ______. 
A. financially responsible for herself
B. returned to England
C. supported by her family
D. trained to be a nurse
答案：A
195. According to the passage, what did the Puritans expect from married women?
A. They should adopt needy children. 
B. They should assist in their husbands' trade or business. 
C. They should work only within their own homes. 
D. They should be apprenticed.
答案：B

Today Newton is a very clean place. Many years ago, however, there were millions of rats in it. They attacked the cats and dogs. Sometimes a great number of them knocked down a man or woman walking home at night. The rats were very large in size and they harmed many people.
The Government ordered everybody to kill rats. Most people were lazy, so they didn't kill many. The Government promised to pay some money for each dead rat. That made the people very happy. They killed thousands of rats every day. A Government officer put all the dead rats in a big pile. Sometimes a man brought hundreds in one day.
After two weeks there were not many rats in the city, but people still brought many rats to the Government office. The Government officer thought that people were stealing dad rats from the pile. He ordered his men to dig a deep hole and put the rats in it. Soon there were no more rats, and the Government didn't pay any more money.
196. Newton is a place which________.
A. used to be very clean
B. is no longer a city
C. is very clean
D. will be very clean
答案：C
197. When the Government first ordered the people to kill rats, the people ________. 
A. asked for some money for each dead rat
B. stole dead rats from the pile
C. were too lazy to kill many rats
D. killed nearly all the rats quickly
答案：C
198. The people killed rats ________. 
A. to get money from the Government
B. to help the Government make the city clean
C. to make the Government officer happy
D. to protect(保护)their cats and dogs
答案：A
199. A deep hole was dug so that ________. 
A. the rats couldn't come out to attack people at night
B. people could take rats from it easily
C. people would kill more rats
D. nobody could take any rats from the pile
答案：D
200. What is the best topic for this passage?
A. How to Kill Rats
B. Newton -- A City of Rats
C. How Newton Became a Very Clean Place
D. How Newton Became a Famous City
答案：C

When John and Victoria Falls arrived in New York City for one-year stay, they did not bring very many things with them. They had planned either to live in a furnished apartment or to buy used furniture. But they soon learned about a new system that more and more people are using. The renting of home furnishings (bed, tables, dishes, and so on) has become one of America's fastest growing businesses.

 What kinds of people rent their home furnishings instead of buying them? People who are international business or government officials, foreign students, airline workers, young married couples - people whose job or business may force them to move frequently from one city to another. They save a lot of trouble and the cost of moving their furniture each time. They simply rent new furniture when they reach their new homes. Young people with little money do not want to buy cheap furniture that they may soon dislike. They prefer to wait until they have enough money to buy furniture they really like. Meanwhile, they find they can rent better quality furniture than they could afford to buy.
 One family, who now have a large, beautiful home of their own, liked their rented furniture so much that they decided to keep renting it instead of buying new things. But usually people don't like to tell others about it. The idea of renting home furnishings is still quite new, and they are not sure what their neighbors might think. 
201. Which of the following has become one of America's fastest growing businesses? ________
A. Selling home furnishings.
B. Renting furnished apartments.
C. Selling used furniture.
D. Renting home furnishings.
答案：D
202. Why do some people prefer to rent furniture? ________
A. Because the furniture they get in this way is new.
B. Because it saves them a lot of money.
C. Because it saves them much trouble and money.
D. Because they can always get better quality furniture in this way.
答案：C
203. What can you infer from the passage? ________
A. The idea of renting furniture is not acceptable.
B. Renting furniture is not popular in the couple's home town.
C. Only those who don't have enough money to rent furniture.
D. People usually grow to like the furniture they have rented.
答案：B
204. Which of the following can best serve as the title of the passage? ________
A. Rent or Buy?
B. A New Way of Getting Home Furnishings.
C. Furnished Apartments.
D. A New Idea.
答案：B
205. Young people liked renting home furniture in that ________
A. They have less money.
B. They don't want to buy old furniture.
C. The new furniture is of good quality.
D. They don't have much money and don't want to buy the cheap furniture.
答案：D

Community service is an important component of education here at our university. We encourage all students to volunteer for at least one community activity before they graduate. A new community program called "One On One" helps elementary students who've fallen behind. Your education majors might be especially interested in it because it offers the opportunity to do some teaching, that is, tutoring in math and English. 

You'd have to volunteer two hours a week for one semester. You can choose to help a child with math, English, or both. Half-hour lessons are fine, so you could do a half hour of each subject two days a week.
 Professor Dodge will act as a mentor to the tutors-he'll be available to help you with lesson plans or to offer suggestions for activities. He has office hours every Tuesday and Thursday afternoon. You can sign up for the program with him and begin the tutoring next week. 
I'm sure you'll enjoy this community service…and you'll gain valuable experience at the same time. It looks good on your resume, too, showing that you've had experience with children and that you care about your community. If you'd like to sign up, or if you have any questions, stop by Professor Dodge's office this week. 
206. What is the purpose of the talk? ________
A. To explain a new requirement for graduation.
B. To interest students in a new community program.
C. To discuss the problems of elementary school students.
D. To recruit elementary school teachers for a special program.
答案：B
207. What is the purpose of the program that the speaker describes? ________
A. To find jobs for graduating students.
B. To help education majors prepare for final exams.
C. To offer tutorials to elementary school students.
D. To provide funding for a community service project.
答案：C
208. What does Professor Dodge do? ________
A. He advises students to participate in certain program.
B. He teaches part-time in an elementary school.
C. He observes elementary school students in the classroom.
D. He helps students prepare their resumes.
答案：A
209. What should students who are interested in the tutorials do? ________
A. Contact the elementary school.
B. Sign up for a special class.
C. Submit a resume to the dean.
D. Talk to Professor Dodge.
答案：D
210. Whom do you think the speaker addresses to? ________
A. Faculty.
B. Students.
C. Residents.
D. Graduated students.
答案：B

Britain and France are separated by the English Channel, a body of water that can be crossed in as few as 20 minutes. But the cultures of the two countries sometimes seem to be miles apart. 

Last Thursday Britain and France celebrated the 100th anniversary (周年纪念) of the signing of a friendship agreement called the Entente Cordiality. The agreement marked a new beginning for the countries following centuries of wars and love-hate partnership.
 But their relationship has been ups and downs over the past century. Just last year, there were fierce disagreements over the Iraq war-which British Prime Minister Tony Blair supported despite French President Jacques Chirac speaking out against it. This discomfort is expressed in Blair and Chirac's body language at international meetings. While the French leader often greets German Chancellor Gerhard Schroeder with a hug (拥抱), Blair just receives a handshake. However, some political experts say the war in Iraq could in fact have helped ties.
 The history of divisions may well be because of the very different ways in which the two sides see the world. But this doesn't stop 12 million Britons taking holidays in France each year. However, only 3 million French come in the opposite direction. Surveys (调查) show that most French people feel closer to the Germans than they do to the British. And the research carried out in Britain has found that only a third of the population believes the French can be trusted. Perhaps this bad feeling comes because the British dislike France's close relationship with Germany, or because the French are not happy with Britain's close links with the US.
 Whatever the answer is, as both sides celebrate 100 years of "doubtful friendship", they are at least able to make jokes about each other. Here's one: What's the best thing about Britain's relationship with France? The English Channel. 
211. For centuries, the relationship between Britain and France is ________.        
A. friendly
B. impolite
C. brotherly
D. a mixture of love and hate
答案：D
212. The war in Iraq does ________ to the relationship between France and Britain.   
A. good
B. harm
C. neither good nor harm
D. both good and harm
答案：D
213. The British are not so friendly to ________ and the French are not so friendly to ________.  
A. Germany; America
B. America; Germany
C. Germany; Germany
D. America; America
答案：A
214. ________are more interested in having holidays in ________.    
A. American people … Britain
B. British people … Germany
C. French people … Britain
D. British people … France
答案：D
215. What does the last sentence mean? ________    
A. As long as the English Channel exists, no further disagreement will form between France and Britain.
B. The English Channel can prevent anything unfriendly happening in both France and Britain.
C. France and Britain are near neighbors, and this will help balance the relationship between them.
D. The English Channel is the largest enemy between France and Britain.
答案：C

There are three kinds of goals: short-term, medium-range and long-term goals.

 Short-term goals are those that usually deal with current activities, which we can apply on a daily basis. Such goals can be achieved in a week or less, or two weeks, or possibly, months. It should be remembered that just as a building is no stronger than its foundation, long-term goals cannot amount to very munch without the achievement of solid short-term goals. Upon completing our short-term goals, we should date the occasion and then add new short-term goals that will build on those that have been completed.
 The intermediate goals build on the foundation of the short-term goals. They might deal with just one term of school or the entire school year, or they could even extend for several years. Any time you move a step at a time, you should never allow yourself to become discouraged or overwhelmed. As you complete each step, you will enforce the belief in your ability to grow and succeed. And as your list of completion dates grow, your motivation and desire will increase.
 Long-term goals may be related to our dreams of the future. They might cover five years or more. Life is not a static thing. We should never allow a long-term goal to limit us or our course of action. 
216. Our long-term goals mean a lot ________.
A. If we cannot reach solid short-term goals
B. If we complete the short-term goals
C. if we have dreams of the future
D. if we put forward some plans
答案：B
217. New short-term goals are built upon ________.
A. a daily basis
B. your achievement in a week
C. current activities
D. the goals that have been completed
答案：D
218. When we complete each step of our goals, ________.
A. we will win final success
B. we are overwhelmed
C. we should build up confidence of success
D. we should have strong desire for setting new goals
答案：C
219. What is the main idea of this passage? ________
A. Life is a dynamic thing.
B. We should set up long-term goals.
C. Different kinds of goals in life.
D. The limitation of long-term goals.
答案：C
220. Which of the following statements is wrong according to the passage? ________
A. The long-term goals cannot amount to very munch without the achievement of solid short-term goals.
B. The intermediate goals build on the foundation of the short-term goals.
C. Life is a static thing, thus we should never allow a long-term goal to limit us or our course of action.
D. We should often add new short-term goals to those which have been completed.
答案：C

Sixteen-year-old Maria was waiting in line at the airport in Santo Domingo. She was leaving her native country to join her sister in the United States. She spoke English very well. Though she was very happy she could go abroad, she was feeling sad at leaving her family and friends. As she was thinking all about this, she suddenly heard the airline employee asking her to pick up her luggage and put it on the scales(称). Maria pulled and pulled. The bag was too heavy and she just couldn't lift it up. The man behind her got very impatient. He, too, was waiting to check in his luggage.

 "What's wrong with this girl?" He said, "Why doesn't she hurry up?" He moved forward and placed his bag on the counter, hoping to check in first. He was in a hurry to get a good seat. 
Maria was very angry, but she was very polite. And in her best English she said, "Why are you so upset? There are enough seats for everyone on the plane. If you are in such a hurry, why can't you give me a hand with my luggage?"
 The man was surprised to hear Maria speak English. He quickly picked up her luggage and stepped back. Everyone was looking at him with disapproval. 
221. Maria's story happened ________.
A. when she was leaving America
B. on her way back to Santo Domingo
C. before she left the USA
D. when she arrived at the airport
答案：D
222. You believe that the work of the airline employee mentioned in the story is to ______ at the airport.
A. help carry people's luggage
B. ask people to pick up the luggage
C. check people's luggage
D. take care of people's luggage
答案：C
223. "Why are you so upset?" Maria said to the man. She wanted to tell him that he should not be ________. 
A. surprised
B. sad
C. unhappy
D. sorry
答案：C
224. "Everyone was looking at him with disapproval." This sentence means that the people around felt ________.
A. worried about Maria
B. worried about the man
C. sorry for Maria's manners
D. sorry for the man's manners
答案：D
225. The author mentioned Maria's age at the beginning of the story in order to show that ________.
A. she was young but behaved properly
B. she would not have left home alone
C. everyone around her was wrong
D. it was not good that nobody offered to help her
答案：A

A foreigner's first impression of the U.S. is likely to be that everyone is in a rush-often under pressure. City people appear always to be hurrying to get where they are going restlessly, seeking attention in a store, and elbowing others as they try to complete their errands(任务). Racing through daytime meals is part of the pace of life in this country.

 Working time is considered precious. Others in public eating places are waiting for you to finish so that they too can be served and get back to work within the time allowed. Each person hurries to make room for the next person. If you don't, waiters will hurry you.
 You also find drivers will be abrupt and that people will push past you. You will miss smiles, brief conversations, and small courtesies with strangers. Don't take it personally. This is because people value time highly, and they resent someone else "wasting" it beyond a certain courtesy point.
 The view of time affects the importance we attach to patience. In the American system of values, patience is not a high priority. Many of us have what might be called "a short fuse." We begin to move restlessly about if we feel time is slipping away without some return be this in terms of pleasure, work value, or rest. Those coming from lands where time is looked upon differently may find this matter of pace to be one of their most difficult adjustments in both business and daily life.
 Many newcomers to the States will miss the opening courtesy of a business call, for example, they will miss the ritual socializing that goes with a welcoming cup of tea or coffee they may be traditional in their own country. They may miss leisurely business chats in a café or coffeehouse. Normally, Americans do not assess their visitors in such relaxed surroundings over prolonged small talks. We seek out evidence of past performance rather than evaluate a business colleague through social courtesies. Since we generally assess and probe professionally rather than socially, we start talking business very quickly. 
226. Which of the following statements is wrong? ________        
A. Americans seem to be always under pressure.
B. Americans attach less importance to patience.
C. Americans don't care much about ritual socializing.
D. Americans are impolite to their business colleagues.
答案：D
227. In the fourth paragraph, "a high priority" means ________.   
A. a less important thing
B. a first concern
C. a good business
D. an attractive gift
答案：B
228. Americans evaluate a business colleague ________.    
A. through social courtesy
B. through prolonged business talks
C. by establishing business relations
D. by learning about their past performance
答案：D
229. This passage mainly talks about ________.  
A. how Americans treasure their time
B. how busy Americans are every day
C. how Americans do business with foreigners
D. what American way of life is like
答案：A
230. We can infer from the passage that the author's tone in writing is ________.   
A. critical
B. ironical
C. appreciative
D. objective
答案：C

In the United States, it is not customary to telephone someone very early in the morning. If you telephone him early in the day, while he is shaving or having breakfast, the time of the call shows that the matter is very important and requires immediate attention. The same meaning is attached to telephone calls made after 11:00 p.m. If someone receives a call during sleeping hours, he assumes it's a matter of life or death. The time chosen for the call communicates its importance.

 In social life, time plays a very important part. In the U.S.A. guests tend to feel they are not highly regarded if the invitation to a dinner party is extended only three or four days before the party date. But it is not true in all countries. In other areas of the world, it may be considered foolish to make an appointment too far in advance because plans which are made for a date more than a week away tend to be forgotten. The meaning of time differs in different parts of the world. Thus, misunderstandings arise between people from different cultures that treat time differently. Promptness is valued highly in American life, for example. If people are not prompt, they may be regarded as impolite or not fully responsible. In the U.S. no one would think of keeping a business associate waiting for an hour, it would be too impolite. A person who is 5 minutes late, will say a few words of explanation, though perhaps he will not complete the sentence. 
231. What is the main idea of this passage? ________
A. It is not customary to telephone someone in the morning and in sleeping hours in the United States.
B. The role of time in social life over the world.
C. If people are not prompt, they may be regarded as impolite or not fully responsible in the United States.
D. Not every country treats the concept of time as the same.
答案：B
232. What does it mean in the passage if you call someone during his or her sleeping hours? _______
A. A matter of work.
B. A matter of life or death.
C. You want to see him or her.
D. You want to make an appointment with him or her.
答案：B
233. Which of the following time is proper if you want to make an appointment with your friend?
A. at 7:00 am.
B. at 4:00 pm.
C. at the midnight.
D. at 4:00 am.
答案：B
234. Which of the following statements is true according to the passage? 
________
A. In the United States guests tend to feel they are highly regarded if the invitation to a dinner party is extended only three or four days before the party date.
B. There is no misunderstanding arising between people from different cultures about the concept of time.
C. It may be considered foolish to make an appointment well in advance in the United States.
D. Promptness is valued highly in American life.
答案：D
235. From the passage we can safely infer that _______.
A. it's a matter of life or death if you call someone in day time
B. the meaning of time differs in different parts of the world
C. it makes no difference in the United States whether you are early or late for a business party
D. if a person is late for a date, he needn't make some explanation
答案：B

The French Revolution broke out in 1789. At the time France was in a crisis. The government was badly run and people's lives were miserable. King Louis XIV tried to control the national parliament and raise more taxes. But his effort failed. He ordered his troops to Versailles. The people thought that Louis intended to put down the Revolution by force. On July 14, 1789, they stormed and took the Bastille, where political prisoners were kept. Ever since that day, July 14 has been the French National Day. Louis tried to flee the country in 1792, to get support from Austria and Prussia. However, he was caught and put in prison. In September 1792, the monarchy(君主制) was abolished_. In the same year, Louis was executed. A few months later his wife, Marie also had her head cut off. The Revolution of France had frightened the other kings of Europe. Armies from Austria and Prussia began to march against France. The French raised republican armies to defend the nation. The Revolution went through a period of terror. Thousands of people lost their lives. In the end, power passed to Napoleon Bonaparte. 

236. What's this passage about?
A. France.
B. King Louis.
C. The French Revolution.
D. Europe.
答案：C
237. Which did not happen in 1789?
A. The French Revolution broke out.
B. The national economy was developing rapidly.
C. The government wasn't well run.
D. King Louis XIV was in power.
答案：B
238. Where were the political prisoners kept?
A. In Versailles.
B. In Austria.
C. In Prussia.
D. In Bastille.
答案：D
239. What does the underlined word "abolished" mean?
A. Put off.
B. Established.
C. United.
D. Ended.
答案：D
240. What was NOT the effect of the Revolution?
A. July 14 has become the French National Day.
B. It brought some impact on the other European kings.
C. Louis's wife, Marie was killed.
D. The king tried to control the national parliament.
答案：D

My Aunt Edith was a widow(寡妇) of 50, working as a secretary, when doctors discovered what was then thought to be a very serious heart disease.

Aunt Edith didn't accept defeat easily. She began studying medical reports in the library and found an article in a magazine about a well-known heart surgeon (外科医生), Dr. Michael DeBakey, of Houston, Texas. He had saved the life of someone with the same disease. The article said his fees were very high; Aunt Edith couldn't possibly pay them. But could he tell her of someone whose fees she could pay?
So Aunt Edith wrote to him. She simply listed her reasons for wanting to live: her three children, who would be on their own in three or four more years; her little-girl dream of traveling and seeing the world. There wasn't a word of self-pity-only warmth and humor and the joy of living. She mailed the letter, not really expecting an answer.
A few days later, my doorbell rang. Aunt Edith didn't wait to come in; she stood in the hall and read aloud:
 Your beautiful letter moved me very deeply. If you can come to Houston, there will be no charge for either the hospital or the operation.
 Signed :Michael DeBakey 
241. Aunt Edith ________ when she knew she had a very serious heart disease.
A. stopped working as a secretary
B. didn't lose hope
C. stayed in the hospital
D. asked many doctors for help
答案：B
242. From the story we can see ________. 
A. Dr. Michael DeBakey was not famous at all
B. Aunt Edith could afford Dr. Michael DeBakey's fees
C. Dr. Michael DeBakey was experienced in dealing with Aunt Edith's disease
D. Aunt Edith accepted defeat easily
答案：C
243. In Aunt Edith's letter to the doctor, ________. 
A. she showed she was warm, humorous and enjoying living 
B. she avoided talking about her children
C. she showed she was very sad
D. she said she had a little girl who dreamed of traveling and seeing the world
答案：A
244. When Aunt Edith mailed her letter, ________. 
A. she was determined to move the doctor
B. she expected some wonder would happen
C. she knew it would never reach the doctor
D. she didn't expect the doctor would give her a reply 
答案：D
245. Michael DeBakey mainly told Aunt Edith in the letter that ________.
A. he was going to operate on her for free
B. he thought he was unable to offer help
C. her letter was well-written
D. her disease was so serious that he couldn't cure her
答案：A

On February 14th many people in the world celebrate an unusual holiday, St. Valentine's Day, a special day for lovers. The origin of this holiday is uncertain but according to one story it gets its name from a Christian named Valentine who lived in Rome during the 3rd century A.D. His job was to perform marriages for Christian couples. Unfortunately the Emperor of Rome didn't allow Christian marriages. So they had to be performed in secret(秘密地). Finally Valentine was arrested and put into prison. While he was in prison he fell in love with the daughter of the prison guard. After one year the Emperor offered to release(释放) Valentine if he would stop performing Christian marriages. Valentine refused and so he was killed in February, 270 A.D. Before he was killed Valentine sent a love letter to the daughter of the prison guard. He signed the letter "from your Valentine". That was the first Valentine.

 Today Valentines are cards usually red and shaped like hearts with messages of love written in them. On Valentine's Day tens of millions of people send and receive Valentines. Whether it is an expensive heart-shaped box of chocolates from a secret admirer or a simple hand-made card from a child, a Valentine is a very special message of love.
246. The passage is mainly about ________.
A. a special holiday
B. one possible origin of St. Valentine's Day
C. the love story of a Christian called Valentine
D. what is Valentine today
答案：B
247. Valentine was put into prison because _________.
A. he didn't allow Christian marriages
B. he performed marriages for Christian couples openly
C. he performed marriages for Christian couples, which was against the king's wish
D. he sent a love letter to the daughter of the prison guard
答案：C
248. It is ________ that Valentine was killed?
A. because he was put into prison
B. because he performed many Christian marriages in secret
C. because he refused to accept the Emperor's offer
D. because he fell in love with the daughter of the prison guard
答案：C
249. Which of the following about Valentines is TRUE?
A. Valentines are cards usually red.
B. Valentines are shaped like hearts.
C. There are messages of love written in Valentines.
D. all of the above
答案：D
250. People send Valentines to each other nowadays ________.
A. to show their love and affection    
B. to celebrate Valentine's birthday
C. to surprise others
D. to show how great love is
答案：A

四、英译汉
251. He has sympathy for all poor people.
答案：他对所有穷苦人都富有同情心。

252. China will build up a space station in ten years.
答案：在十年内,中国将建一个太空站。

253. It's easy to say, but difficult to do.
答案：说起来容易,但做起来难。

254. No matter how much it cost, he had to get the car fixed.
答案：无论费用多高,他也不得不去修车。

255. If you decided to learn a new language, you would have to devote all your efforts to it.
答案：如果你决定学一门新的语言,你必须全力以赴。

256. He has taught English in this university ever since he moved to this city.
答案：他自从移居到这座城市以来就一直在这所大学教英语。

257. He was too tired to go on reading.
答案：他太累了,无法再阅读了。

258. My problem is that I don't have much time to do the work.
答案：我的问题在于我没有多少时间干这工作。

259. How do you spell your last name?
答案：你的姓是如何拼写的?

260. Tom likes playing basket-ball but he can't play well.
答案：汤姆喜欢打篮球,但他打得不好。

261.You'd better go quickly before I change my mind.
答案：趁着我还没有改变主意,你赶快走吧。

262.Because there was heavy traffic, we were ten minutes late.
答案：由于交通拥堵,我们晚了十分钟。

263.Once all the information is completed, you sign here.
答案：所有内容都填完之后,你就在这儿签名。

264.I'm certain he'll go to see the film, because he's bought a ticket.
答案：我肯定他会去看电影的,因为他把票都买好了。

265.I don't know who broke the window.
答案：我不知道谁打破了窗户。

266.One can never succeed without enough confidence in himself.
答案：一个人如果对自己没有足够的信心就不可能成功。

267.There is something urgent for you to do right now.
答案：有件急事要你立即去做。

268.They have been working together for three months and have come to know each other better.
答案：他们一起工作了三个月,相互之间也更了解了。

269.He offered to help us with our work.
答案：他主动帮助我们工作。

270.Students can study by themselves through school network.
答案：学生可以自己通过校园网络学习。
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